

STATUS OF MAJOR NUTRIENTS IN THREE LENTIC ECOSYSTEMS OF EASTERN KOLKATA, WEST BENGAL

A. SHEETAL, SANGRAM KESHARI ROUT*, SRIPARNA CHAKRABORTY AND R. R. ANUPAMA

Department of Aquatic Environment Management, Faculty of Fishery Sciences, 5-Budherhat road, Panchasayar, WBUAFS, Kolkata- 700 094, INDIA e-mail: skrout68@gmail.com

INTRODUCTION

The increased awareness and valuing of wetlands over the past fifty years has been in a large part due to people experiencing and connecting with these areas. The East Kolkata Wetlands are stretching over 12,500 ha. of area which includes around 254 sewage fed fisheries, agricultural land, some built up area *etc.* Around 45.93% area of East Kolkata Wetlands is manmade water area used to be a buffer zone. But, later on sewage started to be dumped here due to increased urbanization. Consequently the practice of sewage fed pisciculture and agriculture made this area a natural waste recycling region. So, this wetland system is popularly known as the kidney of the city and has been included under Ramsar Convention during the year of 2002 (Kundu *et al.*, 2008). Sewage may contain high levels of the nutrients especially nitrogen and phosphorus. The abiotic processes of pond ecosystems are dominated by three nutrient cycles namely carbon, nitrogen, and phosphorus.

Management of these nutrient levels is very much essential to avoid eutrophication of the wetlands. Information about seasonal variations of the major nutrients is essential for the effective management of these wetlands. The dynamics and seasonal cycles of the nutrients – nitrate, nitrite, phosphate, silicates and sulphates were controlled most of the biological activities in an aquatic ecosystem (Ludwig et *al.*, 2005). Diurnal variability in nitrate concentrations has been attributed to denitrification rates, resulting in higher concentrations during periods of daylight (Harrison et *al.*, 2005).

Studies on the distribution, variation and transfer processes of nutrients are therefore vital in assessing the water pollution problems and study of ecology in the area (Thilaga et *al.*, 2005). For the present study three ponds have been selected to obtain a clear understanding of the role of nitrogen and phosphorus dynamics in ponds which has extensive, social and financial implications.

MATERIALS AND METHODS

The study was conducted on three selected lentic water bodies of East Kolkata Wetlands, and is denoted as P-1, P-2 and P-3. All the ponds are used for fish culture as well as domestic purpose. The study was conducted during the period from November 2015 to July 2016. To obtain a detailed status of water bodies, three sampling sites from each water body were randomly selected. Both the water and sediment samples were collected fortnightly in the early morning (between 7.00 am and 9.00 am) from selected sites of the water bodies. Collection, preservation and analysis of nutrient parameters like nitrate-nitrogen and phosphate-phosphorus of water, and organic carbon, available nitrogen and available phosphorus of sediment was done according to the standard methods of APHA (2012).

ABSTRACT

In the present study an attempt has been made to study the seasonal variation of nutrient concentration in three selected lentic ecosystems of Eastern Kolkata. The study was carried out for three seasons namely winter, summer and monsoon. Both water and sediment samples were collected fortnightly. Nitrate-nitrogen & phosphate-phosphorus in water and organic carbon, available nitrogen & available phosphorus in sediment were estimated as, they are considered as the most important nutrients in freshwater ecosystems. The results indicated that the nitrate-nitrogen in water was maximum during monsoon followed by summer and winter whereas available nitrogen in sediment was maximum in summer followed by monsoon and winter. Phosphate-phosphorus in the water was maximum in summer followed by monsoon and winter as such available phosphorus in sediment was maximum during monsoon followed by winter and summer in P-1 and P-2, but in P-3 it was maximum during winter followed by monsoon and summer. Organic carbon of the sediment was maximum in summer followed by monsoon and winter in P-2, whereas in P-1 and P-3 it was maximum during monsoon followed by winter and summer. All the parameters showed significant fortnight variation in all ponds. Nutrient concentration of all ponds lies below the level of eutrophication. This nutrient study will help in the effective management of lentic ecosystems which in turn augments the aquatic productivity. concentration of all ponds lies below the level of eutrophication. This nutrient study will help in the effective management of lentic ecosystems which in turn augments the aquatic productivity.

KEY WORDS

Nutrients lentic water ecosystems

Received :10.08.2016Revised :13.09.2016Accepted :17.11.2016

*Corresponding author

RESULTS AND DISCUSSION

The minimum and maximum nitrate values in three ponds varied from 0.12 ± 0.02 mg/l to 0.43 ± 0.08 mg/l in P-1, 0.14 ± 0.01 mg/l to 0.48 ± 0.03 mg/l in P-2 and 0.32 ± 0.01 mg/l to 1.05 ± 0.06 mg/l in P-3 respectively (Fig:1). Statistical analysis revealed that nitrate among the ponds and months were significantly varying at P ≤ 0.05 (Table:1). Pearson correlation coefficient (r) revealed that nitrate-nitrogen showed positive correlation with available phosphorus in P-1.

In the present investigation, seasonally, nitrate was maximum during monsoon followed by summer and winter in three ponds. Similar fluctuations were also observed by Sivakumar and Karuppasamy (2008) ranging from 0.90 mg/l (November) to 0.70mg/l (July) from reservoirs of Tamilnadu and Manjare et *al.* (2010) reported the nitrate values of 37.5 mg/l (July) to 4.40mg/l (November) from the reservoirs of Maharashtra. According to Anderson *et al.* (1998), higher concentration may be due to influx nitrogen rich flood water and bring about large amount of sewage. The rainy season was period with the highest nitrate-nitrogen concentration which is known to support the formation of blooms. Minimum values were recorded during winter might be due to lower rate of oxidation (Sayeswara *et al.*, 2011). Nitrate-nitrogen showed direct relation with phosphate-phosphorus and the same relation was also reported by Sharma *et al.* (2012).

The minimum and maximum phosphate values in three ponds varied from 0.17 \pm 0.04 mg/l to 0.81 \pm 0.05 mg/l in P-1, 0.41 \pm 0.02 mg/l to 0.74 \pm 0.05 mg/l in P-2 and 0.25 \pm 0.03 mg/l to 0.76 \pm 0.02 mg/l in P-3 respectively (Fig:2). Statistical analysis revealed that phosphate among the ponds and months were significantly varying at P \leq 0.05 (Table:2). Pearson

Table1: Two-way ANOVA (with replication) for nitrate- nitrogen

ANOVA						
Source of Variation	SS	Df	MS	F	P-value	F crit
Ponds	2.952404	2	1.476202	937.0874	5.74E-69	3.080387
Months	3.486356	17	0.20508	130.1838	9.89E-64	1.718165
Interaction	3.819507	34	0.112338	71.31203	1.29E-59	1.538002
Within	0.170133	108	0.001575			
Total	10.4284	161				

	Table	2:	Two-way	ANOVA	(with	replication)	for	phos	phate-	phos	phorus.
--	-------	----	---------	-------	-------	--------------	-----	------	--------	------	---------

ANOVA						
Source of Variation	SS	Df	MS	F	P-value	F crit
Ponds	1.532912	2	0.766456	495.0793	4.06E-55	3.080387
Months	1.638803	17	0.0964	62.26806	9.37E-48	1.718165
Interaction	2.847399	34	0.083747	54.09497	1.52E-53	1.538002
Within	0.1672	108	0.001548			
otal	6.186314	161				

Table3: Two-way ANOVA (with replication) for Sediment organic carbon

ANOVA						
Source of Variation	SS	Df	MS	F	P-value	F crit
Ponds	0.066411	2	0.033206	17.12607	3.47E-07	3.080387
Months	10.455	17	0.615	317.192	7.1E-84	1.718165
Interaction	4.8731	34	0.143326	73.92196	2.05E-60	1.538002
Within	0.2094	108	0.001939			
Total	15.60391	161				

Table 4 :Two-way ANOVA (with replication) for Available Nitrogen

ANOVA							
Source of Variation	SS	df	MS	F	P-value	F crit	
Ponds	8314.158	2	4157.079	19833.63	2.7E-139	3.080387	
Months	579.5564	17	34.09155	162.6525	1.05E-68	1.718165	
Interaction	1205.269	34	35.4491	169.1294	4.1E-79	1.538002	
Within	22.63653	108	0.209598				
Total	10121.62	161					

Table 5: Two-way ANOVA (with replication) for Available phosphorus

11101/

ANOVA						
Source of Variation	SS	Df	MS	F	P-value	F crit
Ponds	65.6192	2	32.8096	2293.586	3.43E-89	3.080387
Months	26.91278	17	1.583104	110.6684	3.86E-60	1.718165
Interaction	10.93855	34	0.321722	22.49028	3.12E-35	1.538002
Within	1.544933	108	0.014305			
Total	105.0155	161				



Figure 1: Average fortnight variation of nitrate- nitrogen (mg/l) with SD in three ponds during 2015-2016



Figure 2: Average fortnight variation of phosphate-phosphorus (mg/l) with SD in three ponds during 2015 -2016



Figure 3: Average fortnight variation of Sediment organic carbon (%) with SD in three ponds during 2015 - 2016

correlation coefficient (r) revealed that phosphate-phosphorus showed negative correlation with available nitrogen in P-2 and it showed positive correlation with nitrate-nitrogen in P-2. In P-3, it showed negative correlation available phosphorus. In the present investigation, seasonally, phosphatephosphorus was maximum in summer followed by monsoon

and winter. This correlates with the findings of various workers like Hulyal and Kaliwal (2011). Verma *et al.* (2012) also reported lowest levels during winter. Phosphate ranged from 0.21 mg/l (May, November) to 0.42 mg/l (February, July) in Danteshwar pond, Gujarat was reported by Pathak and Mankodi (2013), whereas 0.14 to 0.92 ppm phosphate was recorded from a dam of Aurangabad (Shinde *et al.*, 2010) which is in agreement with the present findings.

The minimum and maximum values of organic carbon in three ponds varied from 0.8 \pm 0.06 % to 1.7 \pm 0.02 % in P-1, 0.86 \pm 0.04 % to 1.65 \pm 0.03 % in P-2 and 0.59 \pm 0.04 % to 1.71 \pm 0.02 % in P-3 respectively (Fig:3). Seasonally, sediment organic carbon was maximum in summer followed by monsoon and winter in P-2. In P-1 and P-3 sediment organic carbon was maximum during monsoon followed by winter and summer. Statistical analysis revealed that organic carbon among the ponds and months were significantly varying at P \leq 0.05 (Table:3). The Pearson correlation coefficient (r) revealed that sediment organic carbon showed positive correlation with available phosphorus in P-2 and P-3 while it showed a negative correlation with available nitrogen in P-3.

Seasonally, higher organic carbon was found during monsoon and lower during summer. Almost similar type of observations were made by Das and Bandyopadhyay (1998), who reported that in Kole beel of West Bengal, the organic carbon content was higher in monsoon (0.68%) as compared to winter (0.45%)and summer (0.38%). Natural processes and human activities have resulted in elevated content of organic carbon in sediment which includes diverse input from inappropriate animal waste applications and disposals, forest clear cuttings, agricultural practices and changes in land uses (Kamaruzzaman et al., 2009). The observed peak value of organic carbon in monsoon is due to the influx of land run off containing considerable amount of terrigenous organic matter such as dead planktonic matter which settles at the bottom and get oxidized and decomposed releasing high level of organic carbon in the sediment (Martin et al., 2010).

The minimum and maximum values of available nitrogen in three ponds varied from 10.6 \pm 0.2 mg/100g of soil to 17.0 \pm 0.5 mg/100g of soil in P-1, 18.2 \pm 0.3 mg/100g of soil to 25.9 \pm 0.7 mg/100 g of soil in P-2 and 28.9 \pm 0.6 mg/100g of soil to 35.6 \pm 0.4 mg/100g of soil in P-3 respectively (Fig:4). Statistical analysis revealed that available nitrogen among the ponds and months were significantly varying at P \leq 0.05 (Table:4). The Pearson correlation coefficient (r) revealed that available nitrogen was insignificant among the ponds and months.

Seasonally, available nitrogen was maximum in summer followed by monsoon and winter in three ponds. Higher amount of available nitrogen, during summer might be due to increased temperature and light intensity, which accelerates the rate of mineralization process. Similar observations were made by Vijayakumar et al. (2000) and Saravanakumar et al. (2008) as concentration of nitrogen was highest during premonsoon season which could be attributed to oxidation of organic matter which has settled on the top layer of sediment. The minimum and maximum values of available phosphorus in three ponds varied from 1.0 \pm 0.01 mg/100g of soil to 2.7 \pm 0.06 mg/100g of soil in P-1, 2.6 \pm 0.05 mg/100g of soil to 4.6 ± 0.05 mg/100g of soil in P-2 and 2.3 ± 0.05 mg/100g of soil to 4.3 \pm 0.04 mg/100g of soil in P-3 respectively (Fig:5). Statistical analysis revealed that available phosphorus among the ponds and months were significantly varying at $P \le 0.05$ (Table:5). The Pearson correlation coefficient (r) revealed that available phosphorus was insignificant among ponds and months

Phosphorus is a key nutrient found in soil. Phosphorus content

A. SHEETAL et al.,



Figure 4: Average fortnight variation of available nitrogen (mg/100g of soil) with SD in three ponds during 2015 – 2016.



Figure 5: Average fortnight variation of available phosphorus (mg/100g of soil) with SD in three ponds during 2015-2016

of water in aquatic systems is greatly influenced by the bottom sediments. Sediments often play an important role in the uptake, storage and release of dissolved inorganic phosphorus in aquatic systems (Haggard *et al.*, 2004). In the present investigation, available phosphorus was maximum during monsoon followed by winter and summer in P-1 and P-2 where as in P-3, maximum available phosphorus was recorded during winter followed by monsoon and summer. Mahajan and Mondloi (1998) stated that the available phosphorus values were higher during monsoon (10.73 mg/100g of soil) from a pond in Madhya Pradesh which correlates with the present findings from three study ponds. The higher values of available phosphorus during monsoon might be due to allochthonous input of nutrients during rain water.

REFERENCES

American Public Health Association (APHA). 2012. Standard Methods for the Examination of Water and Wastewater (22nd Edition), Washington DC, USA.

Anderson, D. M., Cembella, A. D. and Hallegraeff, G. M. 1998. Physiological Ecology of harmful algal blooms. 1st Edn., (Berlin: Springer-Verlag,).pp. 647-648.

Das, A. K. and Bandyaopadhyay, M. K. 1998. Impact of paper mill effluent on aquatic environment at discharge site in Kole beel, West Bengal. J. Inland Fisheries Society. India. 30(2): 80-85.

Haggard, B. E., Ekka, S. A., Matlock, M. D. and Chaubey, I. 2004. Phosphate equilibrium between stream sediments and water: potential effect of chemical amendments. *Transactions of the ASAE American Society of Agricultural Engineers.* **47(4):** 1113d1118. Harrison, J. S., Seitzinger, N., Caraco, L. and Bouwman, A. 2005. Dissolved inorganic phosphorus export to the coastal zone: Results from a spatially explicit, global model, Global Biogeochem. Cycles, 19, GB4S03, doi: 10. 1029/2004GB002357.

Hulyal, S. B. and Kaliwal, B. B. 2011. Seasonal variations in physicochemical characteristics of Almatti Reservoir of Bijapur district, Chhattisgarh. IJEP 1: 58-67.

Kamaruzzaman, B. Y., Waznath, A. S., Ong, M.C., Shahbudin, S. and Jalal, K.C.A., 2009. Variability of organic carbon content in bottom sediment of Pahang river estuary, Pahang, Malasiya, J. Applied Sciences. 9(24): 4253-4257.

Kundu Nitai, Mausumi Pal and Sharmisthat Saha, 2008. East Kolkata Wetlands: A resource recovery system through productive activities. *Proceedings of Taal 2007: The 12th World Lake Conference*: pp.868-881.

Ludwig, J., Boucher, D., Sargos, D., Amblard, C. and Debroas, D. 2005. Relative importance of nutrients and mortality factors on prokaryotic community composition in two lakes of different trophic status: Microcosm experiments; FEMS *Microbiology Ecology*. 53: 429-443

Mahajan, S. and Mandloi, A. K. 1998. Physicochemical characteristics of soil and water in relation to plankton production of fish culture pond. *J. inland fisheries society of India*. **30(1):** 92-98.

Manjare, S. A., Vhanalakar, S. A. and Muley, D. V. 2010. Analysis of water quality using physico-chemical parameters Tamdalge tank in Kolhapurdistrict, Maharashtra. *International Journal of Advanced Biotechnology and Research*, 2nd ed. Vol. 1(2): 115-119.

Martin., G. D., Vijay, J. G, Laluraj, C. M., Madhu, N. V., Joseph, T., Nair, N., Gupta, G. V. M. and Balachandran, K. K. 2008. Freshwater influence on nutrient stoichiometry in a tropical estuary, southwest coast of India. *Applied Eccology and Environmental Research*. **6**: 57-64.

Pathak, N. B. and Mankodi, P. C. 2013. Hydrological status of Danteshwar pond, Vadodara, Gujarat, India. *Res. J.Environ. Sci.* 2(1): 43-48.

Saravanakumar, M. Rajkumar, J., Sesh, S. and Thivakaran, G. A. 2008. Seasonal variation physico-chemical characteristics of water, sediment and soil texture in arid zone mangroves of Kachchh-Gujarat. *J. Environmental Biology*. 29(5): 725-732.

Sayeswara, H. A., Mahesh Anand Gowdar and Manjunatha, R. 2011. A preliminary study on ecological characteristics of Sominkoppa pond, Shivamogga, Karnataka, India. *The Ecoscan.* 5(1and2): 11-14.

Sharma, P., Meher P. K and Mishra, K. P. 2012. Distribution of nonradioactive heavy elements in water of river Ganges from Rishikesh to Allahabad: A study on possible health effects. J. Nehru Gram Bharati University. 1(1): 52-58.

Shinde S. E., T. S. Pathan, K. S. Raut, P. R. More and D. L. Sonawane, 2010. Seasonal variations in physic-chemical characteristics of Harsool - Savangi Dam, District Aurangabad, India. *The Ecoscan.* 4(1): 37-44.

Sivakumar, K. and Karuppasamy, R. 2008. Factors affecting productivity of phytoplankton in a reservoir of Tamilnadu, India. *AmericanEurasian J. Botany.* **1(3):** 99-103

Thilaga, A., Subhashini, S., Sobhana, S. and Kumar, K. L. 2005. Studies on nutrient content of Ooty Lake. *Nat. Environ. Poll. Tech.* **4**: 299-302.

Verma, S., Tiwari, D. and Verma, A. 2012. Interrelationships between Physico-chemical Water Pollution Indicators: A Case Study of River Pandu, World Academy of Science. *Engineering and Technology*.72:

Vijayakumar, S. K., Rajesh, K. M., Mendon, R. and Hariharan, V. 2000. Seasonal distribution and behaviour of nutrients with reference to tidal rhythm in the Mulki estuary, southwest coast of India. *J. Mar. Biol. Assoc India.* **42:** 21-31.